KA

BifEH : SHI064E08H 168 BELh> NI—o5T
BRI B & |Bh%| #n&E| 56| GR |HDCP| NET | fm= | [IEfI] K & |/B6|fh&E| %A GR |[HDCP| NET | {@=
21| KB F088 | 44 | 47 91 |20.4 | 70.6 A 36 | KEF #iFB | 43 | 46 89 [12.0 | 77.0
#E@| B A% | 40 | 51 91 (19.2 | 71.8 | A& 37| B |44 45| 89 |12.0 | 77.0
3|/%0O = 48|50 98 |25.2 | 72.8 | A& 38 | {RRE] BF | 45 | 44 89 [12.0 | 77.0
4 | FREBEE | 47 | 49 96 |22.8 | 73.2 | A& 39| BH E— 50 | 45| 95(18.0| 77.0
5 & 1B]43 40 | 83| 9.6 | 73.4 AH 40 | B)Il F=F 48 | 47 | 95 |18.0 | 77.0
6 | TaEF 5T | 45 | 44 89 |15.6 | 73.4 | A& 41 | IR 4915 | 51 44| 95(18.0 | 77.0
7 | B EE | 47 | 54 101 |27.6 | 73.4 | AE 42 | okt B | 44 44 | 88(10.8 | 77.2
8 | Bk X |42 40 | 82| 8.4 | 73.6 |AH 43 | gIA F— 45|49 | 94 |16.8 | 77.2
9 | @ F|Z | 41 40| 81| 7.2|73.8 |A® 44 | mH 8K | 40 41| 8136|774
10 BHE &= |48 45| 93(19.2 | 73.8 | A& 45 | Hiff §A% 45|42 | 87 |9.6 | 77.4
11| AR (o 47 | 46 | 93 19.2 | 73.8 |[AH 46 | MR & | 40 | 47 87| 9.6 | 77.4
12| K E&F |47 39| 86 (12.0 | 74.0 | A& 47 | XF IE— 44 49 | 93 |15.6 | 77.4
13| AR ¥ | 44 42 | 86 (12.0 | 74.0 | A® 48 | /B EAI 41|52 | 93 |15.6 | 77.4
14 AR —pk | 41| 44 85 (10.8 | 74.2 | A& 49 | 1)l FER | 43 | 42 85| 7.2|77.8
15| K& | 41 43| 84| 9.6 | 74.4 | AH 50 | BhE & | 49 | 46 95 |16.8 | 78.2
16| IR  [E | 40 44| 84| 9.6 | 74.4 | AH 51| Btg #= | 47 47 | 94 |15.6 | 78.4
17 | +=B{&Z | 37 | 40 77 | 2.4 | 74.6 |amec| | 52 | SEH &t 55| 51 |106 [27.6 | 78.4
18| /MR #@= 41 |42 | 83 |8.4|74.6 AE 53| &fE EZEH 49 | 50 | 99 |20.4 | 78.6
19 B HXE | 42| 47 89 |14.4 | 74.6 | AE 54 | BEAMEKER 48 | 49 | 97 |18.0 | 79.0
20 | A ZE | 38 | 44 82| 7.2|74.8 A& 55| #H {& |45 |51 96 [16.8 | 79.2
21 | AR AR 39| 41| 80| 4.8|75.2 56 | BR BE | 49 49 | 98 (18.0 | 80.0
22| &H BF | 45 | 47 92 |16.8 | 75.2 57| ®F %% | 48 50 | 98 (18.0 | 80.0
23 | Al F#F 48 | 50 | 98 [22.8 | 75.2 58 | kH B 57 | 50 | 107 |26.4 | 80.6
24| RE B | 41|43 84 | 8.4 | 75.6 59| Bk #uE | 44 | 55 99 |16.8 | 82.2
25| ZH FME | 47 49 | 96 [20.4 | 75.6 60| EF & |51 54 | 105 |22.8 | 82.2
26 | HOEE 3B1T | 43 | 45 88 |12.0 | 76.0 61| @t PEZ 71 | 69 | 140 |36.0 |104.0
27 | WEH EBiE | 45 | 49 94 18.0 | 76.0

28| k8B =2 51 |48 | 99 [22.8| 76.2

29| BRI HT | 54 | 57 111 |34.8 | 76.2

30 | A& 5|43 43| 86| 9.6 |76.4

31| =K B# |47 45| 92 |15.6 | 76.4

32| Bl BR 41|43 | 84| 7.2|76.8

33| WEH = 44 | 46 | 90 |13.2 | 76.8

34| [K#A U | 45 | 51 96 |19.2 | 76.8

35| RE 42 | 41| 83|6.0|77.0
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